TINMTO Fasteners & Fixings

Carriage Bolt
& Hex Nuts

Carriage Bolts (DIN603) & Hex Nuts (DIN934)

Zinc
NutSocket Pack Carton Pallet NutSocket Pack Carton Pallet
. c € Product  Size Sze Qty Qty Qty Product  Size Sze Qty Qty Qty
Code (mm) (mm)  (pcs) (packs) (packs) Code (mm) (mm)  (pcs) (packs) (packs)
DOMED EN 14592:2008 BOX TIMBAG
o w0 @ 3w
08140CB  M8x140 13 25 10 320 0650CBB  M6x50 10 % 5 600
Adomedhead bolt 08150CB  M8x150 13 25 10 320 0675CBB  M6x75 10 75 5 600
with a square anti 08160CB  M8x160 13 25 10 320 06100CBB  M6x100 10 5 5 600
spinshoulder mainly 08180CB  M8x180 13 25 10 320 06130CBB  M6x130 10 3 5 600
used for clamping 08200CB  M8x200 13 2% 10 320 06150CBB  M6x150 10 25 5 600
timber or attaching 102568 M10x25 17 100 6 204 0850CBB  MB8x50 185 5 600
ironmongery to 1030CB M10x30 17 100 6 192 0875CBB  M8x75 13 4 5 600
timber. 1035CB M10x35 17 50 12 384 08100CBB  M8x 100 13 40 5 600
Fully threaded up to 1040CB  M10x40 17 5 11 352 08110CBB  M8x110 13 3 5 600
andincluding 150mm. 1050CB  M10x50 17 50 9 288 08130CBB  M8x130 13 3 5 500
Partially threaded 1065CB  M10x65 17 50 9 288 08150CBB  M8x150 13 245 600
thereafter. 10708 M10x70 17 50 8 240 08180CBB  M8x180 13 45 600
TSN O s I s s a5 08200088 M8x200 13 12 5 600
1080CB  M10x80 17 s 6 1o 1050088 M10x50 17 45 5 600
100008 Mioxe0 4725 s 240 1075088 M10x75 17 28 5 600
101008 M10x100 17 25 9 288 10100CBB  M10x100 17 24 5 600
1011008 Mi0x110 17 25 9 288 10120088 M10x120 17 20 5 600
NutSocket Pack Carton Pallet 1012008 M10x120 17 % 10 820 1013088 Mi0x130 17 L
Product  Size Size Qy Qy Qty 10130CB  M10x130 17 25 10 320 10150CBB  M10x150 17 45 600
Code (mm)  (mm) (pcs) (packs) (packs) 10140CB  M10x140 17 %5 8 320 10180CBB  M10x180 17 125 600
BOX 10150CB M10x 150 17 25 6 192 10200CBB  M10x 200 17 10 5 400
10160CB  M10x160 17 2% 6 192 1250CBB  M12x50 19 185 600
10180CB M10x 180 17 25 6 192 1275CBB M12x75 19 18 ) 600
(0620 M6 0 RSN 1O, VR 1B 467} 10200CB  M10x200 17 10 10 320 12100CBB  M12x100 19 14 5 600
06258 M6x25 10 200 11 352 1022008 M10x220 17 10 10 320 12130088 M12x130 19 12 5 600
0630CB  M6x30 10 200 11 240 10240CB  M10x240 17 10 10 320 12150CBB  M12x150 19 10 5 600
0640CB  M6x40 10 200 9 288 10260CB  M10x260 17 10 10 320 12180CBB  M12x180 19 8 5 600
650G 10 S0 R 1O NN 2O RO R, 07 10280C8  M10x280 17 10 9 288 12200088 M12x200 19 5 5 400
0660CB  M6x60 10 100 12 384 00008 Miokso 17 10 o om Bics
0655 B MG x 55 B OB (O 23 551 12508 M12x50 19 25 8 240 TIMPAC
0670CB  M6x70 10 100 8 240 126508 M12x65 19 25 9 288 0640CBP  M6x40 10 8 5 -
75 N O 7 | R R 12758 M12x75 19 25 9 288 0650CBP  M6x50 10 4 5 -
06100CB  M6x100 10 100 9 288 1290CB  M12x90 19 25 6 192 0675CBP  M6x75 10 6 5 -
05410 e 1 T R RO 121008 Mi2x100 19 25 6 192 06100CBP  M6x100 10 4 5 -
06120C8  M6x120 10 50 10 320 1211008 Mi2x110 19 25 6 192 061300BP  M6x130 10 4 5 -
0671500 B i1 50 0 S 50 S OB 520 1212008 M12x120 19 10 10 320 06150CBP  MBx150 10 2 5 -
06140CB  M6x140 10 50 10 320 1213008 M12x130 19 10 10 320 0850CBP  M8x50 13 4 5 -
ool Gl o - R O ) 1214008 M12x140 19 10 10 320 0875CBP  Msx75 13 4 5 -
0820C8  M8x20 13 200 6 1% 121508 Mi2x150 19 10 10 320 08100CBP  M8x100 13 4 5 -
0825CB . M8x25 13 100 12 384 12160CB  M12x160 19 10 10 320 08110CBP  M8x110 13 3 5 -
0830CB  M8x30 13 100 8 240 12180CB  Mi2x180 19 10 10 320 081300BP M8x130 13 3 5 -
055,00 S |- B R 0 12008 M12x200 19 10 10 320 08150CBP M8x150 13 2 5 -
0840CB  MSx40 13 100 & 240 1220008 M12x220 19 10 10 320 08180CBP  M8x180 13 2 5 -
0525 RN &> B I VR R’ 122308 M12x230 19 10 10 320 10508P  M10x50 17 2 5 -
0850CB  MSx50 13 100 & 240 1224008  M12x240 19 10 6 192 107568 Mi0x75 17 3 5 -
(0500 R R | (0 RN |7 1225008  M12x250 19 10 6 192 10100C8P M10x100 17 2 5 -
0865CB  M8x65 13 80 12 384 12260CB  M12x260 19 10 6 192 10120CBP  M10x120 17 2 5 -
5700 M - RV 1 PR 12280CB  M12x280 19 10 6 192 10130CBP  M10x130 17 2 5 -
0875CB  M8x75 13 50 9 288 12300CB  M12x300 19 10 6 192 10150CBP  M10x150 17 2 5 -
05500 S5 > 50 S5 B >0 B O R 065 16100CB  M16x100 24 10 9 288 10180CBP M10x180 17 2 5 -
0890CB  M8x90 13 50 9 288 16110C8  M16x110 24 10 9 288 125008P  M12x50 19 2 5 -
LS00 71 O R 16150C8  M16x150 24 10 6 192 127508P  M12x75 19 2 5 -
08110CB  M8x1i0 13 50 9 288 16180CB  M16x180 24 5 10 320 1210008 M12x100 19 2 5 -
520G 1 A T 17 1620008 M16x200 24 5 10 320 12130CBP  M12x130 19 2 5 -
08130CB  M8x130 13 50 6 192 e 1o18008P Mizxd80fe 2 s
PAK15
CORROSION RATING zino|» [l 2 [31[4 [5] SeencrySlowhumidty

55



